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4. (a) The Trial Balance of ABC Ltd, as on Dec 31,2002 did not agree. The difference was put to a Suspense
Account, During the next trading period, the following were discovered:
(i) The total of the Sales-book of one page Rs. 6,531 was carried forward to the next pages Rs. 6.351

(if) Goods returned by a customer for Rs. 1,200, but entered in Purchases Return Book

(iif) Personal Car Expenses amounting to Rs. 250 were debited to Trade Expenses

(iv) Sales Return Book was undercast by Rs. 2,750.
(v) Rs. 50 discount allowed by a supplier, was wrongly posted to debit side of Discount Account

(vi) An item of purchases of Rs. 151 was entered in Purchases Book as Rs. 15 and posted to Supplier’s

account as Rs. 51.
You are required to give Journal entries to rectify the errors through Profit & Loss Adjustment A/cin a way so
(10 marks)

'

as to show the current year’s profit or loss correctly
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All The Best
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1. The accountant of X prepared the Trial Balance for the year ended 31st March19—96 But there was a

difference and the accountant put the difference in Suspense Account,

Rectify the Following errors found and prepare the Suspense Account:
(i) The total of the Returns outward book, Rs. 420 has not been posted to the ledger.

(if) A purchase of Rs. 350 from Y has been entered in the sales book. However Y's account has been
correctly entered.

(iii) A sale of Rs. 390 to Z has been credited to his account as Rs. 290.
(iv) Old furniture sold for Rs, 5,400 had been entered as Rs. 4,500 in sales account.

s

(v) Goods taken by proprietor, Rs. 500 have nqt_-f.b.éen entered in the books at all. (10 marks)
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(a) On 31st March 2001, a book-keeper,;fl_" .iffqrence in the Trial Balance and he puts it in the
Suspense Account. Later on he detectsatﬁ_' following errors:

(i) Rs. 50,000 received from A was pqsft:éd
(i) Rs. 20,000 being purchasesretirns were poste@?

(iii) Discount of Rs: SJO_OVOS'reEgi'VS-:?'é;J,.W'ére posted to the'debit -:ADi"sc‘ountAcéEiUh_t'.

(iv) Rs. 9,080 paid for repairs,of M_ggor &Lar Wasidebited to Mo :a_:rJAccount as Rs. 7,060.
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(v) Rs. 40,000 paid to B wa.debitéd t6A's Acount, =
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Give Journal Entries to r:eAc{qu!’the:) gl‘b‘ci}\,/‘eE g'rco\rg ﬁg&geqéu}, the amount transferred to Suspense Account,
assuming that the Suspense/Account is balanced after the above corrections:., (10 marks)
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(a) There was an error in the Trial Balance of Mr. Steel on 31st March, 2002, and the difference in Books
was carried to a Suspense Account. On going through the Books you find that:

(i) Rs. 5,400 received from Mr. Awas posted to the debit of his account.

(if) Rs. 1,000 being purchases return were posted to the debit of purchases Account.

(iii) Discount received Rs. 2,000 was posted to the debit of Discount Account.

(iv) Rs. 2,740 paid for Repairs to Motor Car was debited to Motor CarAccount as Rs. 1,740.
(v) Rs. 4,000 paid to B was debited to A’'s Account.

Give Journal Entries to rectify the above error and ascertain the amount transferred to Suspense Account

on 31st March, 2002 by showing the Suspense Account, assuming that the Suspense Account is balanced
after the above corrections. (10 marks)
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